

Apartment in Zejtun



Zejtun, South



€290,000

Reference No: 240061171-136

 Total Rooms: **5**

 Floor Area (m²) : **92**

 Bathrooms: **2**

 Bedrooms: **2**

Apartment - For Sale - Zejtun

ZEJTUN - APARTMENT - Located in a very sought-after area on the 1st floor and served with a lift. The layout consists of a spacious open-plan Kitchen/Living/Dining, 2 Bedrooms (main with an En Suite), 2 Bathrooms and a front terrace facing outside development zone (ODZ) area. This property is already built and is being sold finished, excluding bathrooms and internal doors. Freehold. Contact an agent now for more information or to set up an onsite viewing.

Features

- ✓ Lift
- ✓ Entrance Hall
- ✓ Electricity Utility
- ✓ Skirting
- ✓ Balcony
- ✓ En Suite
- ✓ Water Utility
- ✓ PVC Piping
- ✓ Double Glazed
- ✓ Front Patio

Rooms

- ✓ Kitchen/Living/Dining : 6.85 x 5.2 m (35.62 m2)
- ✓ Double Bedroom : 3.83 x 3.46 m (13.25 m2)
- ✓ Double Bedroom : 3 x 3.2 m (9.6 m2)
- ✓ Bathroom : 2.71 x 2.74 m (7.43 m2)
- ✓ Bathroom Ensuite : 2.65 x 1.37 m (3.63 m2)
- ✓ Open Space : 1.6 x 6.83 m (10.93 m2)

Gallery







Tristan Patiniott

RE/MAX Superior - Fgura

M: 79452947

E: tristan@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura

368, Zabbar Road, Fgura, Malta